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NEW QUESTION 1
You have a set up min-max planning at the subinventory level with the following to source item AS12312 for Organization: M1:

 Source Type: Organization

 Organization: M1
What type of supply request will be generated?

A. Movement request
B. Internal Requisition
C. Purchase Requisition
D. None; this is an invalid setup
E. Intraorganization transfer order

Answer: E

NEW QUESTION 2
Identify two statements that are true about the cost-organization relationship.

A. Costing Item Validation Organization can only be Item Master Organization of the underlying inventory organizations.
B. Only Inventory organizations belonging to different Item Master Organizations can be part of a cost organization.
C. Costing Item Validation Organization is used to default the Unit of Measure for costing calculations.
D. The inventory organizations that are assigned to a cost organization must all belong to the same legal entity.

Answer: CD

NEW QUESTION 3
Given an HttpServletRequest request and an EJB SessionContext ctx. Which is a valid way to retrieve the Principal invoking either behavior?

A. request.getCallerPrincipal() and ctx.getCallerPrincipal()
B. request.getUserPrincipal() and ctx.getUserPrincipal()
C. request.getCallerPrincipal() and ctx.getUserPrincipal()
D. request.getUserPrincipal() and ctx.getCallerPrincipal()

Answer: A

NEW QUESTION 4
A user is performing a material return transaction against access stock in an Inventory organization; however, the user fails to select the Physical Material Return
Required check box.
What happens?

A. It is considered as accounting-only return.
B. Stock is reserved.
C. A transfer order line remains open.
D. Shipment lines are created.

Answer: A

NEW QUESTION 5
Which code snippet indicates that the page you are designing is capable of handling errors?

A. <%@page errorPage=“errorHandler.jsp”%>
B. <%= requestScope[‘javax.servlet.error’] !=null %>
C. <%@page isErrorPage=“true”%>
D. <c:set var=“errorHandler” value=“true”/>

Answer: C

NEW QUESTION 6
Which two options constitute the rights and responsibilities of a legal Entity?

A. Account for themselves to regulations, taxation authorities, and owners according to rules specified in the relevant legislation
B. Facilitate resource allocation
C. Manage warehouses
D. Create opportunities for new business
E. Own property

Answer: AE

NEW QUESTION 7
Your customer wants you to restrict the values of Receivables Transaction Type for their three business units. You created three reference data sets for each
business unit. However, the user is still able to see the values in the Transaction Type list of values which are not defined in the business unit data set.
What is the reason for this behavior?

A. The user is seeing the values defined in the common se
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B. The values should be removed from the common set.
C. Receivables Transaction Types are common across business units.
D. Reference Data Sets cannot be used uniquely across business unit
E. They can only be used at the Legal Entity level.
F. The user has multiple Business Unit Roles and, therefore, is able to see additional values.

Answer: A

NEW QUESTION 8
What does the system do if you have not entered a count for a tag during physical inventory process?

A. It will adjust your on-hand balances down to zero quantity.
B. You will not be able to post without a quantity for every tag.
C. Any adjustment will be rejected.
D. It will consider the current system quantity.
E. A warehouse person will be notified.

Answer: A

NEW QUESTION 9
The physical inventory process is carried out for a particular inventory organization with the following parameters:

 Negative quantity Tolerance Percentage is set to 10%

 Approval Type = ‘Always’
The system says that there are 100 on band, but you only counted 95. What will happen?

A. The setup is invalid; it will give an error message.
B. Because the 95 is within the 10% tolerance, it will post without approval.
C. The system will ask a user to recount before posting.
D. An approval will be required before posting.

Answer: B

NEW QUESTION 10
How can you inject a target web service into an EJB?

A. Define service as an injectable resource by using the <resource-ref> declaration.
B. Use a HandlerChain.
C. Use a java.xml.ws.WebServiceRef annotation.
D. Use a java.xml.ws.WebServiceContext annotation.

Answer: A

NEW QUESTION 10
An inventory transaction is important to the system through an FBDI template.
Which transaction state denotes that an inventory transaction is created in the Oracle Inventory Management application?

A. Created
B. Validated
C. Deferred
D. New
E. Staged

Answer: B

NEW QUESTION 15
You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.
Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations
B. Manage Subinventories
C. Manage Inventory Organizations
D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 16
Your organization performs a restock via a transfer order between inventory organizations, using the following parameters for processing:
Transfer Type: In-transit transfer type Receipt Routing: Standard
Transfer Order Required: Yes
During the process, the receiving organization wants to make a change to the transfer order line. After which fulfillment stage will they no longer be able to change
the transfer order?

A. Awaiting Receiving
B. Awaiting Billing
C. Closed
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D. Ship Confirm
E. Awaiting Fulfillment

Answer: C

NEW QUESTION 17
You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count
B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count
E. Blind Inventory Count

Answer: D

NEW QUESTION 19
On the Supply Lines Overview page, the deviations in supply type chart show a supply line status of exception.
What action must you take?

A. This indicates that supply line quantities are available but the quality is not up to the mark, so the quality issue must be resolved.
B. The indicates that supply line has an exception in manufacturing goods, so the supply line must be changed.
C. This indicates that supply line quantities are less than required, so additional quantities must be procured to meet the requirement.
D. This indicates that supply line quantities are not available, so inventory must be procured.

Answer: C

NEW QUESTION 22
Your customer wants to transfer material from facility A to facility B. They are using the interorganization transfer to perform the transaction in the system. Their
requirement is “whenever material is transferred from their facility A to facility B, facility B needs to pay 5% additional amount to the current item cost”.
Which task must be set up to accomplish this requirement?

A. Manage Interorganization Markup
B. Manage Transfer Pricing Rules
C. Manage Cost Plus Pricing
D. Manage Cost Organization Relationships
E. Manage Organization Relationships

Answer: D

NEW QUESTION 24
Given the code fragment:

How are transactions managed?

A. through a single shared transaction across the connection factory
B. through a separate transaction per JMS Consumer
C. through a single transaction for the entire JMS Topic
D. through a single shared transaction in the JMS Context

Answer: D

NEW QUESTION 26
Given the code fragment:
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When the context root is requested http://host:port/context, how does the container resolve this mapping?

A. thirdServlet handles the request.
B. firstServlet handles the request.
C. The container throws an error at startup.
D. secondServlet handles the request.

Answer: C

NEW QUESTION 30
Your customer is a very large organization spanning across multiple countries. Their legal requirements, Human Resource Policies, and Functional Currencies for
Ledger are different for each country. Your customer wants to maintain 10 different companies in the system.
Which combination meets this requirement?

A. 1 Enterprise, 10 Divisions, where each division has its own ledger with common legal entity across all divisions
B. 10 Enterprises, 10 Divisions, where each division has its own legal entity and ledger
C. 1 Enterprise, 10 Divisions, where each division has its own legal entity and ledger
D. 10 Enterprises, 1 Division, where each division has 10 legal entities and 1 ledger

Answer: C

NEW QUESTION 31
Given the code sample:

And:

And:

And the next fragment from beans.xml:

And this injection point:
@Inject GenericMessenger messageHandler;
Which type would be injected at run time and referenced by the messageHandler variable?

A. SmsHandler
B. MsgHandler
C. None of the abov
D. An exception would be thrown due to ambiguous bean references.
E. GenericMessenger

Answer: D

NEW QUESTION 34
Given a JSL document describing a batch job:
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How do you initiate a batch job?

A. Get the JobExecution object from BatchRuntime and call its start() method.
B. Get the JobExecution object from BatchRuntime and set its status to JobStatus.INITIATED.
C. Get the JobOperator object from BatchRuntime and call its start() method.
D. Call BatchRunTime.initialize(“ProductLoadJob”);

Answer: A

NEW QUESTION 35
Which URL represents an invalid approach to pass a parameter to a REST resource?

A. <base-url>/Employees?value=1
B. <base-url>/Employees&value=1
C. <base-url>/Employees/1
D. <base-url>/Employees;value=1

Answer: D

NEW QUESTION 38
You have been asked to implement internationalization in your JSF web application. Where do you configure the supported locales?

A. in the <f:view> tag of the Facelet page
B. in the web.xml file
C. in the faces-config.xml file
D. in the src folder

Answer: A

NEW QUESTION 41
While negotiating the terms of the consignment agreement, the buyer and the supplier mutually agree to set aging onset point as receipt and the aging period as
five days. The terms also say that the consumption advice will be generated daily.
In which three scenarios will the goods be transferred from the supplier’s ownership to buyer’s ownership?

A. You received the goods today and you decided to issue the goods after days without transferring the ownership.
B. You received the goods today and for the next one week you do not plan any action on the same.
C. You received the goods today after six days you decide to transfer the ownership using the “create transfer to consigned transaction” task.
D. You received the goods today and you transfer the ownership using the “create transfer to owned transaction” task.
E. You received the goods and after four days you return the material to the supplier.
F. You received the goods today and after three days you transfer the ownership using the “create transfer to consigned transaction” task.

Answer: ABD

NEW QUESTION 45
A shipment has not yet been created for a pick that you are running. How is the due date calculated?

A. request date from the order line
B. schedule ship date from the order line
C. promise date from the order line
D. system date
E. earliest acceptable date from the order line

Answer: B

NEW QUESTION 49
Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface
B. the ManagedExecutorTask interface
C. the TaskEventListener interface
D. the ManagedTaskListener interface

Answer: D
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NEW QUESTION 52
Given the set of navigation rules:

Which two define a valid flow of view IDs through the application? (Choose two.)

A. home > goodbye > list-widgets
B. dashboard > home > add-widget > list-widgets
C. list-widgets > add-widget > home > dashboard > home
D. home > list-widgets > add-widget > goodbye

Answer: CD

NEW QUESTION 55
On your JSF page, you have a form in which you have a command button:

A user submits the form by clicking the button, and no errors occur while processing the request. Which statement is true?

A. The actNow() and ListenCarefully() methods are executed in parallel.
B. The listenCarefully() method is executed followed by the actNow() method.
C. The actNow() method controls the condition upon which the listenCarefully() method is allowed to be executed.
D. The actNow method is executed followed by the listenCarefully() method.

Answer: B

NEW QUESTION 58
A Java EE application that uses an EJB container must communicate with a legacy system developed using non-Java technologies.
Which two Java EE technologies can be used in the integration tier of the application? (Choose two.)

A. JMS
B. JSF
C. JPA
D. JCA

Answer: AB

NEW QUESTION 59
Your customer has a complex financial reporting structure.
Which three elements should you define first in order to form a basis for this reporting?

A. Tax, Legal, and Industry
B. Managerial, Operational, and Industry
C. Legal, Managerial, and Functional
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D. Legal, Autonomy, and Operational

Answer: C

NEW QUESTION 64
Which action invokes supply chain orchestration and transfer of data to supply chain orchestration Interface tables?

A. creating Purchase Order Receipt
B. running a scheduled process called “Create Transactions”
C. running Min-Max Planning
D. creating a new Inventory Organization for execution of supply chain orchestration

Answer: C

NEW QUESTION 69
Given:

How often does the submitted task run?

A. need more details to determine
B. once
C. as many times as you like
D. based on a schedule

Answer: A

NEW QUESTION 70
Identify three statements that are true about reservations in back-to-back processing.

A. Partial fulfillment of reservations is supported.
B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain Orchestration work area.
C. Reservations cannot be created for back-to-back On Hand supply orders.
D. One reservation is created for a demand and supply.
E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand inventory.

Answer: BDE

NEW QUESTION 74
Your web application requires logic to remember items that a user placed into a shopping cart. Which two mechanisms should you use to associate that
information with the user? (Choose two.)

A. HttpServletResponse objects
B. ServletContext objects
C. HttpSession objects
D. a database

Answer: BC

NEW QUESTION 78
A Persistence application locks entity x with a LockModeType.PESSIMISTIC_READ lock type. Which statement is true?

A. LockModeType.PESSIMISTIC_READ is the synonym of LockModeType.READ
B. This operation will force serialization among transactions attempting to read the entity data.
C. This operation will result in a TransactionRolledbackException if the lock cannot be obtained.
D. If the application updates the entity later, and the changes are flushed to the database, the lock will be converted to an exclusive look.

Answer: B

NEW QUESTION 81
You have been assigned to the Widget Editor portion of an application. It contains a Widget Editor Facelet page, the Widget class, and a simple WidgetEditor
backing bean, which contains a reference to the current Widget instance.
Given the code fragment from the Widget class:
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Given the code fragment from the Facelet page:

The page displays Conversion Error when a user fills out all the form fields and clicks the Save button. Which step do you perform to fix this problem?

A. Replace Line 1 with:<h: inputText id=“createDate”value=“#{widgetEditor.widget.createdDate}”converter=“java.util.Date”/>
B. Enclose the code fragment within the <f:view/> tag
C. Insert <f:convertDateTime”/> at Line 1
D. Replace Line 1 with:<h:inputText id=“createDate”value=“#{widgetEditor.widget.createdDate}”><f:convertDateTime pattern=“dd-mm-yyyy”/></h:inputText>

Answer: D

NEW QUESTION 82
Identify two valid WebSocket message types for which you can register handlers. (Choose two.)

A. Error Message
B. Binary Message
C. Pong Message
D. Ping Message

Answer: BC

NEW QUESTION 85
Given:

If an exception is thrown inside the if block, what effect will it have on the transaction?

A. The transaction will be committed.
B. The transaction will be suspended.
C. The transaction will be rolled back.

Answer: C

NEW QUESTION 86
Your organization has lot controlled and nonlot controlled material and stores all defective material in a subinventory called “Defect”. The organization does not
want defective material to be available for reservations or for subsequent shipping to customers.
Which option satisfies this requirement?

A. Tag the lot as defective product.
B. Disallow all inventory transactions for the subinventory “Defect”.
C. Put a hold on the lot.
D. Assign the subinventory a material status that disallows reservations and allows subinventory transfers and issues to scrap.
E. Assign the lot a material status that disallows reservations and allows subinventory transfers and issues to scrap.
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Answer: D

NEW QUESTION 87
Which three types of jurisdictions should be considered while designing the Enterprise Structure?

A. Labor Jurisdiction
B. Obligatory Jurisdiction
C. Local Jurisdiction
D. Income Tax Jurisdiction
E. Transaction Tax Jurisdiction
F. Identifying Jurisdiction

Answer: DEF

NEW QUESTION 88
You want to allow one set of roles to POST to a resource and another set of roles to GET it. Which two configuration options should you use? (Choose two.)

A. two separate @HttpMethodConstraints annotations and sets of roles
B. a single @HttpMethodContstraint annotation and a map of method to roles
C. two <web-resource-collection> with different <http-method> in the deployment descriptor
D. a single <web-resource-collection> with two <auth-constraint> with different <http-method> in the deployment descriptor

Answer: BD

NEW QUESTION 91
Which code snippet prints the exception error message as part of the page output?

A. <%= exception.message %>
B. <c:out value=”${requestScope[‘javax.servlet.error.exception’]}”/>
C. <% exception.getMessage(); %>
D. <% System.out.println(e.getMessage()) %>

Answer: D

NEW QUESTION 92
In Supply Chain Orchestration, Automated Change Management performs which two functions?

A. change to need by dates of a purchase order
B. splitting of a sales order
C. changing the ship method on a sales order
D. change to item attributes
E. changing the supplier on a purchase order

Answer: AB

NEW QUESTION 96
Given the code fragment:

How can you apply DateConverter to the birthday field?

A. by adding @Convert(to=Date.class) at line 3
B. by invoking the setConverter(DateConverter.class) method on the EntityManager object
C. by adding @Converter(autoApply=true) at line 1
D. by adding @Convert((DateConverter.class)) at line 2

Answer: A

NEW QUESTION 98
Which statement is true about Java methods that are exposed as Web Service operations by using JAX-WS API?

A. The @WebResult annotation must exist.
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B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Answer: D

NEW QUESTION 103
Given the code fragment:

How can you get all property names of a JMS message in the JMS consumer onMessage operation?

A. String [] props = msg.getPropertyNames();
B. Enumeration props = msg.getPropertyNames();. Iterator props = msg.getPropertyNames();
C. List<String> props = msg.getProperties();

Answer: A

NEW QUESTION 108
You are building the User Preferences page of an application. A user can change values, such as his or her name, password, address, company, and so on.
These values are sent to a CDI backing bean via AJAX when the user tabs out of each field. However, the values must be retained in the CDI bean and stored in
the database only when the user clicks the Save button.
Which two scopes will allow your CDI bean to retain its state while the user is interacting with the User Preferences page? (Choose two.)

A. Dependent
B. View
C. Session
D. Request
E. Application

Answer: CD

NEW QUESTION 112
You need to exchange large binary messages using chunks in a WebSocket application. Identify two ways in which you can receive partial messages. (Choose
two.)

A. Define an @OnMessage method with a single MimePart parameter.
B. Use a ChunkListener interface implementation.
C. Use a MessageHandler.Partial<ByteBuffer> interface implementation.
D. Define an @OnMessage method with byte [] as the first parameter and a boolean as the second parameter.

Answer: CD

NEW QUESTION 117
Which annotation allows a request to be executed with another Principal’s identity?

A. It is not possible to execute a request with another Principal’s identity.
B. @UseIdentity
C. @RolesAllowed
D. @Runs

Answer: C

NEW QUESTION 118
A third-party service equipment is used for various purposes in a manufacturing facility and needs to be overhauled once a year. This equipment is charged based
on its consumption without a project dependency.
At this point, it should be transferred out of the vendor’s warehouse for maintenance and then returned back in the future depending upon the requirement.
The material stock transfer should happen with an offline approval and with an account alias as a logical reference.
What is the ideal way to handle this process?

A. Transfer Order
B. Requisitions
C. Move Request
D. Miscellaneous Transaction
E. Subinventory Transfer

Answer: D

NEW QUESTION 121
Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer, you come to know that they have a business that
spans across multiple locations and they have warehouse situated across USA and Canada.

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-900 dumps
https://www.2passeasy.com/dumps/1z0-900/ (142 New Questions)

 All their procurement, payables, and distribution activities take place from USA.

 They have a central warehouse in USA and after the goods are delivered to this warehouse, they are distributed across multiple additional warehouses. The
warehouses are managed separately from the requisitioning units.

 For requesting material they have two units. One located in USA that monitors the current stock. They are responsible for creating requisition for any material
shortage in USA. They have another location in Canada for requesting material.
Which setup fulfills this scenario?

A. BU1: USA - as procurement and requisitioning Business Unit (BU)BU2: Canada - as requisitioning Business UnitDefine Service provider relationship where
Canada procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.
B. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where USA procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.
C. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where Canada procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.
D. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where USA procurement business unit serves as procurement and payables service provider for both Canada and USA requisitioning Business Units.

Answer: A

NEW QUESTION 126
......
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